TEHTED ASTMETE JA JUURTEGA
(10. klassi 0-kursus)

1. Arvutage.

DR -hP= ... HKE K3 =
2dn-n'=........... Byud TRt =
3)s-t-st= B)Y Y=

2. Arvutage astmete korrutus voi jagatis.

)4 -42=.............. 4) (-4)% - (-4)°= ..o

2) (2% (2P°= .. 5)3%-3%= ...
3)2-2%-2%= ... 6) 13- 1242 2% = ..

Reegel: .
Iga arv astmes null vordub ....................coeeene, . f!:

3. Arvutage.
D) (B =i 2) (BKY)? = .o

4. Astendage.

2 3 _4 2
1 — = 2 — =
(3] )(5)

5. Lihtsustage avaldis.
) (BXY) (AR YD) = e

2) (282D7) 1 (B82D) = .
) (2X2 -2, 4XY2)  (HAXYD) = e

6. Arvutage.
1) \/ﬁ _ 3) V-4 =
49
2) V254 = 4) Gj_2+12°=

Valemid:



